Part a of BIDDING Version 3.0

NO.	CATEGORY	DESCRIPTION		ace sizes	Quantity	unit	example	Rate	Amount (Rs.)	Comment
1A	Façade - Logo	P/F 3d BackLit acrylic logo: Base and Sides made up of Aluminium section18 guage finished with powder coated, color matching to acrylic and front Fascia made up of 5mm 040 opal white acrylic with 3mm clear acrylic with 3M vinyl blue and red pasted on it (Red: 3M 3630-33, Blue: 3M 3630-337) completely sealed with all sides and fixed on Pre installed shera board and Led color Temperature -8000 kelvin,Module IP -65 Osram/Ninja/CRYSTA LED's. For letter sizes refer artwork pack.(Sizes are in inch)	WIDTH 18	35.4	637.2	sq inch		21	13381.2	
1B	Façade -English Backlit Letter	P/F 3d BackLit acrylic Letter: Base and Sides made up of Aluminium section18 guage finished with powder coat, color matching to acrylic and front Fascia made up of 5mm 040 opal white Acrylic completely sealed with all sides including 5mm rim to avoid water seepage and fixed on Preinstalled shera board Led color Temperature -8000 kelvin,Module IP -65 Osram/Ninja/CRYSTA LED's.For letter sizes refer artwork pack.(Sizes are in inch)	75	13	975	sq inch	Domino's	21	20475	
1C	Facade - Regional backlit letter	P/F 3d BackLit acrylic Letter: Base and Sides made up of Aluminium section18 guage finished with powder coat, color matching to acrylic and front Fascia made up of 5mm 040 opal white Acrylic completely sealed with all sides including 5mm rim to avoid water seepage and fixed on Pre installed shera board Led color Temperature -8000 kelvin,Module IP -65 Osram/Ninja/CRYSTA LED's.For letter sizes refer artwork pack.(Sizes are in inch)	100	13	1300	sq inch	ದೊಮಿನೊಸ್	21	27300	
1d	ROUTER CUT SIGNAGE IN ACP	Providing and fixing of 12 mm clear acrylic letters " Dominos with logo at back side letter 2mm 040 acrylic sheet and 3mm clear acrylic sheet.3m cast white vinyl for dominos letter and 3m cast red and blue vinyl for dominos logo. Acrylic dominos letter to be cut CNC laser and gap will be fill on white hard silicon for 100% water proofing.LED module 1.32 w to be fixed as per drawing (Sizes are in inch)	75	13	975	sq inch		11	10725	Alternate Op -1 for façade signage
2A	Triangle Wall	Artwork of Triangle wall pasting Cast Vinyl printing-3m 1J180-C (Billing to be raised as per actual Measurement on site)	12'	8'	96	sft		195	18720	
2 A	Translite	Providing and fixing of 75-100mm thk. light box made up of Metal frame & Wrapped with UV print Fabric properly backlit with LED, edges to be sealed by Silicon rubber and the box frame should be matched with black color. (For detail plz refer design docket)	2'-0"	6'-8"	13.32	sqft		700	9324	
2B	Light box with clipon	P/F of 25 mm Light box made up of Aluminium frame anodized finish, graphic vinyl inserted between 3mm thic clear and 6mm thic. 040 transluscent acrylic with required LED to make it Backlit.	2'-6"	6'-0"	15	sqft		700	10500	
3	Pizza Sizes(Pan art)	P/F Pan art single sided made in Solid vinyl stickers pasted on PU coated 15 mm thick steambeach wood base showing 12 mm beachwood Rim all around the vinyl stickers	sizes as/gfc		3	no	HISTORY LARGE CONTROL OF THE PARTY OF THE PA	1250	3750	lumpsum
3A	Pizza Sizes(Pan art)/ Double sided	P/F Pan art two sided made in Solid vinyl stickers pasted on PU coated 15 mm thick steambeach wood base showing 12 mm beachwood Rim all around the vinyl stickers	sizes as/gfc		3	no	MIDDLY LARGE STATE	1250	3750	
4A	MDF ROUNDEL NONLIT	Providing and fixing of dia 750 MM and 18mm Thk in MDF and 3MM Clear acrylic with black duco paint and pasting Cast Vinyl printing-3m 1J180-C and filling gap with black silicon.			1	nos.		5150	5150	
4b	MDF ROUNDEL NONLIT	Providing and fixing of dia 900 MM and 18mm Thk in MDF and 3MM Clear acrylic with black duco paint and pasting Cast Vinyl printing-3m 1J180-C and filling gap with black silicon.			1	nos.		9306	9306	

4c	MDF ROUNDEL NONLIT	Providing and fixing of dia 1050MM and 18mm Thk in MDF and 3MM Clear acrylic with black duco paint and pasting Cast Vinyl printing-3m 1J180-C and filling gap with black silicon.			1	nos.		6700	6700	
4d	MDF ROUNDEL BACKLIT	Providing and fixing of dia 750 and 18MM Thk in MDF with back side 1 mm aluminium sheet and 3MM clear acrylic,10mm Thk 040 acrylic with black duco paint and pasting Cast Vinyi printing-3m 1,180-C and filling gap with black silicon and white LED strip to be fixed as per drawings			1	nos.		9120	9120	
4e	MDF ROUNDEL BACKLIT	Providing and fixing of dia 900 and 18MM Thk in MDF with back side 1 mm aluminium sheet and 3MM clear acrylic,10mm Thk 040 acrylic with black duco paint and pasting Cast Vinyl printing-3m 1J180-C and filling gap with black silicon and white LED strip to be fixed as per drawings			1	nos.		16,005.60	16005.6	
4f	MDF ROUNDEL BACKLIT	Providing and fixing of dia1050 and 18MM Thk in MDF with back side 1 mm alluminium sheet and 3MM clear acrylic, 10mm Thk 040 acrylic with black duco paint and pasting Cast Vinyl printing-3m 1J180-C and filling gap with black silicon and white LED strip to be fixed as per drawings			1	nos.		12,200.00	12200	
5	CANVAS FRAME	Providing and fixing of 25mm X 12mm black wooden molding frame at back side 4mm thk MDF and canvas printing with UV coating (Size-890mm x1100mm)	890	1110	3	nos.		3450	10350	
6	NEON SIGNAGE	Providing and fixing of 12mm Thk clear acrylic to be router cutting with 6mm LED backlit neon and stud for fixing	5'-0"	3'-8"	20	sqft		1050	21000	
7	PIZZA SLICE SIGNAGE	Providing and fixing of 25mm thk solid 040 acrylic to be router cutting at back side 1mm aluminium sheet and 3mm black ACP sheet with grey duco paint for sides. 3M backlit 3630 cast vinyl printing with lamination and white LED strip to be fixed as per drawings	2'-6"	2'-6"	6.25	sqft	* *	4180	26125	
8	ORDER & PICKUP	Providing and fixing of 25mm thk solid 040 acrylic to be router cutting at back side 1mm aluminium sheet and 3mm black ACP sheet with black duco paint for sides and white LED strip to be fixed as per drawings	16	6	96	sq inch	ORDER PICKUP	55	5280	
9	ІНОР	Providing and fixing of 6mm thik clear acrylic laser cut sheet front & back with 2mm thk, fixed with 3 nos.studs. Acrylic letters 10mm white and 3M 3630 cast Vinyl on front side, 2 nos. 3M cast white vinyl on back side with LED white strips	3'-0"	3'-0"	9	sqft	HAPPENS ONLY PizZA	3,111.23	28001.07	
10	3d CUT LETTERS	10mm thk white acrylic letter to be laser cutting with 3M silicon.	48	8	384	sq inch	Cheesy Cargo	6	2304	
11	Mandatory Signages	Quantity to be printed as per site requirements								
12	Staff Entrance	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5"x3.5")	190.5	88.9 mm	1	no	STAFF ENTRANCE	472.5	472.5	lumpsum
13	Rights of Admission Reserved	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5°x3.5°)	190.5	88.9 mm	1	no	RIGHTS OF ADMISSION RESERVED.	472.5	472.5	lumpsum
14	Use Me (Trash Bin)	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5°x3.5")	190.5	88.9 mm	1	no	Comp. Comp.	472.5	472.5	lumpsum
15	No Smoking	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5"x3.5")	190.5	88.9 mm	1	no	NO SHOKING AREA OMINIO WHEEL AN OFFICE	472.5	472.5	lumpsum

16	Leave nothing Behind	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5"x3.5")	190.5	88.9 mm	1	no	MANAGEMENT WILL NOT BE RESPONSIBLE FOR LOSS OR DAMAGE OF BELONGINGS	472.5	472.5	lumpsum
17	Push	Solid vinyl stickers to be pasted on 3mm clear acrylic	116.84 mm	114.3 mm	1	no	PUSH	200	200	lumpsum
18	Washroom Signage	3mm thick blue acrylic letters on to be pasted on 3mm clear acrylic			1	no	41	540	540	lumpsum
19	Washroom Directional Signage	3mm thick blue acrylic letters on to be pasted on 3mm clear acrylic			1	no	← å å	540	540	lumpsum
20	Pull	Solid vinyl stickers to be pasted on 3mm clear acrylic	116.84 mm	114.3 mm	1	no	PULL	200	200	lumpsum
21	Total service guarantee	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5"x3.5")	190.5	88.9 mm	1	no	TOTAL SERVICE GUARANTEE.	472.5	472.5	lumpsum
13	Open Signage	3d BackLit letter made up of 5mm thick acrylic of 040 opal white acrylic fixed on 25x25mm MS pipe Duco paint with Armada blue colour refer to design docket for further details. Length of Open signage should be 550 mm (letter size should be adapted accordingly)			1	no	OPEN	9500	9500	lumpsum
14	Flange logo	P/F 3d BackLit acrylic logo: Base and Sides made up of Aluminium section18 guage finished with powder coated, color matching to acrylic and front Fascia made up of 5mm 040 opal white acrylic with 3mm clear acrylic with 3M winyl blue and red pasted on it (Red: 3M 3630-33, Blue: 3M 3630-337) completely sealed with all sides and fixed on Pre installed shera board and Led color Temperature -8000 kelvin,Module IP -65 Osram/kinja/CRYSTA LED's. For letter sizes refer artwork pack.(Sizes are in MM) thickness 125MM. (Measurement to be done on one side only)	1'-6"	3.	4.8	sqft.		2,281.45	10950.96	
14A	Flange logo	P/F 3d BackLit acrylic logo: Base and Sides made up of Aluminium section18 guage finished with powder coated, color matching to acrylic and front Fascia made up of 5mm 040 opal white acrylic with 3mm clear acrylic with 3M vinyl blue and red pasted on it (Red: 3M 3630-33, Blue: 3M 3630-337) completely sealed with all sides and fixed on Pre installed shera board and Led color Temperature -8000 kelvin,Module IP -65 Osram/Ninja/CRYSTA LED's. For letter sizes refer artwork pack.(Sizes are in MM) thickness 125MM. (Measurement to be done on one side only)	2'-0"	4'	8	sqft.		2,281.45	18251.6	
15A	POLE SIGNAGE	6" square MS pipe finisehd with Armada Blue powder coat (approx height 3 mtr) with required foundation work including3d BackLit acrylic logo: Base and Sides made up of Aluminium section18 guage finished with powder coated, color matching to acrylic and front Fascia made up of 5mm 040 opal white acrylic with 3mm clear acrylic with 3M vinyl blue and red pasted on it and sides to be finished with 8 mm Wide Metal sheet, finished in Armada Blue .Logo size 3'-0" x 6'-0" and depth 6" Logo should be propoerly sealed from all the sides to make it waterproof. (POLE HT. 20') (Single side logo area to be measured for billing)			1	no	250 100	83,340.00	83340	Foundation cost included
15B	POLE SIGNAGE	6" square MS pipe finisehd with Armada Blue powder coat (approx height 6 mtr) with required foundation work including 3 d Backlit acrylic logoBase and Sides made up of Aluminium section 18 guage finished with powder coated, color matching to acrylic and front Fascia made up of 5mm 040 opal white acrylic with 3mm clear acrylic with 3M vinyl blue and red pasted on itand sides to be finished with 8 mm Wide Metal sheet, finished in Armada Blue poweder coat Logo size to be adopted as per height. Logo should be propoerly sealed from all the sides to make it waterproof. (ABOVE 20) (Single side logo area to be measured for billing)			0	no	224 PM	95,700.00	0	NOTE: CONSIDER 30 FEET POLE & LOGO SAME SIZE
16	GST Plate	2mm thk. SS plate with alphabets or letters engrave with Black color and logo as per Brand colour as per artwork and to be fixed with mirror screw	9	2.5	22.5	sq inch	Jubilant FoodWorks Ltd. GETHING SHANGORENCIEC	15	337.5	
16A	GST Plate with Address & GST No.	2mm thk. SS plate with alphabets or letters engrave with Black color and logo as per Brand colour as per artwork and to be fixed with mirror screw	8	6	48	sq inch	The second secon	15	720	

17	Branding	Veggies print on 3m Frosted Film as per approved artwork design	0	0	0	Sq ft		100	o	New Item added
		Tot	tal Amount	L					396881.93	
re & Safe	ety Stickers	100	al Amount						396881.93	
0 0 00.	The state of the s					1			T	
18A	Fire Exit	Vinyl- (Radium ploter cut) to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-10"x4")	10"	4"	1	no	FIRE EXIT	720	720	
18B	Fire Exit (Right direction)	Vinyl- (Radium ploter cut) to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-10"x4")	10"	4"	1	no	FIRE A →	720	720	
18C	Fire Exit(Left	Vinyl- (Radium ploter cut) to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-10"x4")	10"	4"	1	no	← FIRE EXIT	720	720	
18D	Fire Exitinguisher	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-5"x6")	12"	10"	5	no	FIRE	472.5	2362.5	
18E	Danger	sticker to be pasted on 3mm clear acrylic	18"	12"	2	no	DANGER LECTOR PRESIDENT AND PROPERTY OF THE P	750	1500	
18F	Authorised Personnel Only	Solid vinyl stickers to be pasted on 3mm clear acrylic	24"	8"	1	no	Authorised personnel only	1500	1500	
18G	Outside Food Not Allowed	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5"x3.5")	190.5	88.9 mm	1	no	OUTSIDE FOOD NOT PERMITTED	472.5	472.5	
18H	CCTV Surveillance	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5"x3.5")	190.5	88.9 mm	1	no	AREA UNDER COTY SURVEILLANCE	472.5	472.5	
181	Photography not allowed	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5"x3.5")	190.5	88.9 mm	1	no	PHOTOGRAPHY NOT ALLOWED	472.5	472.5	
18J	Payment Mode	3M Vinyl J180C +3M Lamination Vinyl to be pasted on 2mm acrylic laser cut sheet and printing with latex ink at base 10mm thk aluminium anodizing finished (Size-7.5"x3.5")	190.5	88.9 mm	1	no	CARDS AND US! ACCIPTED VISA CRUPAYS	472.5	472.5	
18K	A4 Photo frame	A4 sheet size Photo frame			15	no		400	6000	
									15412.5	
_						· <u></u>	Sum Total Signage		412294.43	rate without taxes
							Tax 18%			
							Grand Total			
of BIDD	ING					1 -				
		a. Delhi NCR	<u> </u>		1	No.		8000	8000	1
	Quote transportation charges	b. Northern region			1	No.		23,612	23612	
		c. Western region	<u> </u>		1	No.		27216	27216	
2	along with packaging		1		1	No.		27216	27216	
2	along with packaging	d. Eastern region								
		e. Southern region			1	No.		27216	27216	
3	es per site (if any required at p	e. Southern region particular site)				No.		7500	0	
3 4	es per site (if any required at p	e. Southern region particular site) articular site)	24	16	384	No. Sq ft		7500 20	0 7680	
3	es per site (if any required at p	e. Southern region particular site) articular site)	24	16		No.		7500	0	